+
=

F 3 B £(t) %a‘x% 4 F(s)
L.f(t) Jo e f(t)
2. f(t) F(s—a)
3.f(at) éF(i)
4.1'(¢) sF(s) — f(0)
5.1"(t) 2F(s) — sf(0) = f'(0)
6. £ (t) S"F(S) —s"7Lf(0) — 5" 2 £(0)
— = sf07D(0) = f7D(0)
7.y f(r)dr LF ( )
847 f(1) (=D)L= F(s)
9.1 [ F(u)du
10.H(t —a)f(t —a) e F(s)
11, f(t + P) f(t) e Jy e
12.f(t) % g(t) = [ f(T)g(t — 7)dr F(s)G(s)
13.1 %
144" n 5 & & e
15.6%, a > —1 Lol
16.e* P
17.sin at 821(12
18.cosat SZ_SHZQ
19.e sin bt P
20.e cos bt (57232"%2
21" e o
22.sinh at pR
23.cosh at o
24.e sinh bt (Sfag’gfbg
25.e% cosh bt e
26. %t sin at (nga?2
27.tcosat ﬁ
28.H(t — a) €=
29.6(t — a) e s
30.5(1) 1
313, cc Res(F(s)e™; sg) F(s)




